UG-226 BCS-21/BAF-21

B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Second Year

CORPORATE ACCOUNTING

Time : 3 hours Maximum marks : 75

SECTION A — (3 x 5 = 15 marks)
Answer any THREE questions.
1.  What do you mean by share premium?
Ui panaold Lpdl BellT idleug wimg?
2. Explain the meaning of interim dividend.
QMLEEHTO LIBIGTSTULID eTarLIgen GlLmmeT allemd:@s.
3. What is Capital Redemption Reserve?

ELPEGE LU L] STLIL| GTEITDITED GTEIT6H?



From the following data, calculate profit prior to
incorporation :

Time ratio=1:2

Sales ratio=1:3

Gross profit = Rs. 1,70,500
Administrative expenses = Rs. 69,600
Expenses relating to sales = Rs. 18,600

Preliminary expenses = Rs. 11,560

Epsranibd efeurmsailelBhgl gl (O (HeursssHHE, (Lpe

2 _GTeT QTSNS SHarsd (hs.

Crrafldlgn =1 :2

elpuener elldlsd =1 : 3

Quwrgg @emub = ep. 1,70,500

Blreurs Cleoe|ser = . 69,600

alpuener Ggrienwi CFweyser = ep. 18,600

< ribL Aeflemmiger = em. 11,560.

X Ltd. issued 25,000 equity shares of Rs. 10 each
to the public on the condition that full amount of
shares will be paid in lump sum. All these shares

were taken up and paid by the public. Pass journal
entries in the books of the company when shares,

(a) areissued at par.

(b) areissued at a discount of 10%.
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X OG- 25,000 srgrgent ubiGseer ¢h. 10 aigb
QumgissEns@ Geualul@n Curg umdear Cwbrss
Qamensud oL anquns Gsss Ceuam(Hbd  ererm
Blubseneulley Geueflufl i Lg. SIDEMSF)
LI GSEmEITL LD QugIL&ESeT T HMIFHCETERTL_GOTT.
Epsranid GpHlaasaid Hinw Lssasdar Ldeajsamer
5O

(=1) swwdllnbe unigsmer teuafulHbCumg

(=) 10% sar@puguie Lunigsamer Geuatludl(BbGLTg).
SECTION B — (4 x 15 = 60 marks)
Answer any FOUR questions.

The following particulars relate to Limited
Company which went into voluntary liquidation.

Rs.
Preferential creditors 25,000
Unsecured creditors 58,000
6% Debentures 30,000
The assets realised Rs. 80,000. The expenses of
liquidation amounted to Rs. 1,500 and liquidator
remuneration at 2% on the amount paid to

unsecured  creditors including preferential
creditors.

Show the liquidator’s final statement of accounts.
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Yemeu(md efleurmigenerd Csmanr(h euenFUMISHLILIL L
fowsdear Quélflow Hows @hluy,  serermio
sl DsTaens SWiTilés.
€.

wperayfleno sLatbCorisar 25,000
WenemrwiBleveor sLaibCsmisear 58,000

6% sLaf_HUuusHrbd 30,000

Qarsgisaser bmSHEH 80,000 smelibpasrear Geway
Qgmens ep. 1,500 womd seeliumerier sardluib
2%  Qgmens  Ueemrwlleoor  sLABOST(HESE
Qeaussiiul L gl @Qde warayflewn sLaibCsmiser

DL_MBIGEUIT.

S Ltd. is absorbed by R Ltd. the consideration

being :

(a) The taking over of the trade liabilities of
Rs. 40,000.

(b) The payment of cost of absorption Rs. 15,000.

(¢c) The repayment of ‘B’ debentures of S Ltd. of
Rs. 2,00,000 at par.

(d) The discharge of ‘A’ debentures of
Rs. 3,00,000 in the vendor company at a
premium of 10% by the issue of
8% debentures in R Ltd. at par.

(e) A payment of Rs. 20 per share in cash and
the exchange of 4 fully paid Rs. 10 shares in
R Ltd. at a market price of Rs. 15 per share
for every Rs. 50 share in S Ltd. which were
40,000 in number. Calculate the purchase
consideration.
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R MA@, S AQL L enL FFiggi& QemerTL g, FrLma :

(=)

eflwrumys  sLenger . 40,000  er(HFHE
Q& meTEnse

iy g Ceeweyser emp. 15,000 Qeqsgisa

S OBCLLiyerr B sLemugdgrhsdr em. 2,00,000
sk (FaSHs60

edpuenanumert  BimeuarsSeyerer em. 3,00,000
‘A sLeugdrhsaer 10%  (pevarngdle
Ceasgi50. QaH@E s R BlCL g6 o cTer
8% sLerUSS rmIsmeT (PaSLG6 aphIEea
CQrrésors ealbeurm — umdp@n .20
Qegdgisd. S AOCLL 14 2 dmer eeublaim(m
. 50 umdp@n R NG en. 10 wdiyerer
UBI@aeT, 4 (ppeugid Ceqissitl L LikiGseamar
sheng WY @ 15 geulleurm  LkIGLD
QUPEIGSH M)

QameTapged mILWET SanTéd (Hs.

B Ltd. issued 50,000 redeemable preference shares
of Rs. 10 each, Rs. 8 paid. In order to redeem these
shares, the company issued for cash 30,000 equity
shares of Rs. 10 each at a premium of Rs. 2 per
share. Out of the cash proceeds the redeemable
preference shares were paid and the balance was

met

out of the reserve fund which stood at

Rs. 2,50,000. Give journal entries.
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B @LLZ 50,000 em. 10 Sy (perenyfeniols Lki@Gsar
som ep. 10, . 8 Ceaussliul L g Geuafludl (Hererg.
Qauperm WBLugpats Hlmeuend 30,000 grgmrewtl
uRIGseT  geom  @p. 10, ep. 2 (pevernS gL e
QeauaflldlLg). @eupder eugemeud Oamar®d LSLL
wergflenots LmGsar BlastiulLg wHmL LD
Ceuamriq W Qg TengHenw sl i3 1.
2,50,000-38 a0 (5! 6T(H&EId CaTem_g,.

GHUCUL L LFle|56T (Hs.

G Ltd. issues 1,000 6% debentures of Rs. 100 each
as follows :

(a) The debentures are issued and redeemable
at par.

(b) They are issued at a discount of 6%,
redeemable at par.

(¢c) They are issued at a premium of 5%,
redeemable at par.

(d) They are issued at a discount of 4%,
redeemable at a premium of 5%.

Give journal entries.

G AAQLL Gereuomm 1,000 6% sLarusHrhiser

gauGleurermid ep. 100 QeuafluidiGS gl

(=) sLem ugdrmser delafuil_iul L g, wpsndllide
B stiuL Ceuerig wig

(<) sLar LSS TBISET 6% SET(@mLIIq ulle
Qeuaflud it g WawLde B sl
Ceuamrig wig|
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10.

11.

12.

(@) sLem LSS ThISET 5% (PGS D
Qeauaflud i L g,  @swdifed  BSlslul
Couatrig wig|

(F)  sLemusSniseT 4% SemenLiquiley Gatefludl i g,
5% (pevernogdled L5 sl CeuiamTiq wig
GMUGULHL LfleyseT 5ms.

Give a Dbrief account about Managerial

Remuneration.

Cuemerigeflen FbLemDd @MlSg afleur.
Explain Contingent Liability.
Blapeygrt QurmitiLseT Lpbl edleréEs.

State the difference between Amalgamation and
Absorption.

Blmiw @enarriiL wHmid FTiL Coumum® ms.
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UG-230 BCS-25

B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Second Year

Corporate Secretaryship
BANKING THEORY, LAW AND PRACTICE

Time : 3 hours Maximum marks : 75

PART A — (3 x 5 =15 marks)
Answer any THREE questions.

1. Write a note on Development Banking and
Commercial Banking.

99685 S eumifl LHMID cuUTSSE cumidludiuied LM e
GO eT(pS)s.

2.  State the features of Banking Regulation Act
1949.
eumdl Q(PEIE Ppend FL b 1949 Glen bsmIsmaTs
GINICES

3. Define banker and customer.

QUIBISNLITGTIT LOHMILD GUTIq &HENSITETIT UENTUIM).



What is the position of a collecting banker?

QUGe0 Uil LITeTlen Hlanay crebmen?
Write a note on Hypothecation.
SIL_LDITAITLD (1 GDILIL 6T(LPS)S.
PART B — (4 x 15 = 60 marks)
Answer any FOUR questions.
Examine the functions of Central bank.
wHEW eunidlufler CFOLITHEMET 4 TTils.
Describe the various methods of credit control.
s sL(HLiumiger LeGoum wpapmaaner afleurl.

Explain the structure of Indian Banking System.
@bdwu  emduiwe  ewlber s eplienL
AR

Explain the obligation of a banker towards his
customers.

SE UMY EMSWLTETIS@H&EEG @(H  eumdlwrerilen

SL_ENLDEENGT GHl6Td: &.
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10.

11.

12.

Discuss the procedures which a hanker has to
follow before opening a new account.

@M YU euTqSmswTerT sarésE ST ni@Geausnd
werart e  eumdwur  Getupnm  Ceusrigw
BenL_(pepmaEearil Lbml efleurs).

What are the circumstances under which a paying
banker refuses payment for a cheque?

@ s1Gsmaas@ eumIFwT uearbd  CFQsseusnE
MIGS 6D @ DHlEn&SET Wreaneu?
Differentiate between secured loan and unsecured

loan.

Yenewrwd — sLer  OmD  GeewrwioHm  SLer
< Fwainenn CaumLihsss.
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UG-229 BCS-24

B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Second Year

Corporate Secretaryship

BUSINESS CORRESPONDENCE AND
SECRETARIAL PRACTICE

Time : 3 hours Maximum marks : 75

SECTION A — (3 x 5 = 15 marks)

Answer any THREE questions.
1. What are the characteristics of a good business
letter?

6(1h B GLEWTE Fig 5SS 60T LIGWTL|SHET WITene ?

2. State the objectives of writing sales letter.
huemen &iqssns eT(PFGlaushaTear CHIESBEISMTS
GINIGES

3.  Write about legal position of a Company
Secretary.

@ Hlming Qewererfern #L_Blane LHD 6T(Lps)s.



10.

What are the rules regarding allotment of shares?

uk@safler @686 Csmrurer eldser wramou?
State the essential of a company meeting.
@O Hyiod &L sdlen (psfluggieusos GHUGAGS.
SECTION B — (4 x 15 = 60 marks)
Answer any FOUR questions.

Describe the principles of business
communication.

wrungs  gseud OCsrmys Csmaransser @GMlsgl
clleul.

Discuss the various parts of report.

SiMlsansuller LwGaum LGdsamer uHD edleims).

Discuss the need for drafting enquiry letters.

ellemyenent S gmigmer swUTTlLZDETET CHeneemuwiL]

umml efleurd).

Examine the liabilities of a company secretary.

@ Hlming Qawererfer GUmmiLseT UHdl <prmis.

Explain the rules regarding declaration of
dividend.

omuls uki@ SMledliy  Ggrrurer  ellflser LD
oNleTE G
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11.

12.

Explain the need for conducting Annual General
Meeting.

e QUTg Fal L Sms BLSSHUSDETET eSS
ol eT& @ mIsaET.

Describe the procedure for holding an
extraordinary general meeting.

Sengmrean  Qurg  SlLFms  BLSSHUSDETET
BenL_(LPEdMEnI 6l6md: @s.
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UG-228 BCS-23

B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Second Year

Corporate Secretaryship
BUSINESS STATISTICS

Time : 3 hours Maximum marks: 75
SECTION A — (3 x 5 = 15 marks)

Answer any THREE questions.

1. The mean yearly salary of employees of a company
as Rs.24,000. The mean yearly salaries of male
and female employees was Rs.25,000 and
Rs.19,000 respectively. Find out the percentage of
male and females employed by the company.

@m Coumeowrerfler ggmefl  yar(  eu(HLOTETD
5.24,000. spmefl e QUHLOTEID, W6 LHOID
Quesr Geuanawim_&@hé@ 5.25,000 whmib er.19,000
95 2 6mergl. e wHmid Cuer Geuemewirl safler

gnnafl elldlgsdener sevr (..



2. Find the co-efficient of range for the following
data:

Wages (in Rs.) 35-45 45-55 55-65 65-75 75-85
Number of workers 18 22 30 6 4

Ceumium_(H erevanevullen Gl paneu sevr(H L9l

&n.60) 35-45 45-55 55-65 65-75 75-85
Gouenewiml_ger 18 22 30 6 4
3. Find the coefficient of correlation given:

cov(x, y)=-16.5, var(X) = 2.89; var(Y) =100
L (Hmey Capelener sar(HLill
@ewent ILUT@H (X, y) =—-16.5,
wrpur® (X) =2.89
wrmur® (Y) =100.

4. In calculating a certain cost of living index
number, the following weights were used : Food
15, Clothing 3, Rent 4, Fuel and Light 2,
Miscellaneous 1. Calculate the index for the data
when the average percentage increases in prices of

items in the various groups over the base period
were 32,564,47, 79 and 58 respectively.
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UMDAITSTISSHDETET 4L L_cuenamrudler eTenL :

o awre] 15, 2. e 3, aurLans 4, eramClentiy 2, @ 1,
Sl Leuenent (2 atarL_&sb) syrafl eldgsde s ls.
@snarer oqliumL e, 32,54,47, 79 woHmibd 58
B GLD.

Using three year moving averages determine the
trend and short term fluctuations:

Year 1973 1974 1975 1976 1977
Production 21 22 23 25 24
Year 1978 1979 1989 1981 1982
Production 22 25 26 27 26

ppem  AET(HEHERSETET BHHD FYTEM ST CFTLT
wHomibd Curs@ LEGLIUTLIG STes.

QUL 1973 1974 1975 1976 1977
o LSS 21 22 23 25 24
QUL 1978 1979 1989 1981 1982
o LSS 22 25 26 27 26

SECTION B — (4 x 15 = 60 marks)
Answer any FOUR questions.

Discuss the wvarious methods of primary data
collection.

rsrer sseucsamer CLmib Lie)Ceum ellSlsamer gomis.
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7. The expenditure of 1,000 families is given as

under:
Expenditure in Rs. 40-59 60-79 80-99 100-119 120-139
Number of families 50 ? 500 ? 50

The median and mean for the distribution are both
Rs.87.50 respectively. Calculate the missing

figures
1000 &HDUBISEH&ESTET OFava|s6r
Qarhssiiul_(Hérerer
Ceeway 40-59 60-79 80-99 100-119 120-139
@Hbursdar 50 ? 500 ? 50

Fymgil LHMILD GenrL_tblena 87.50 oTeu

Qarhssliul(Hererg). NHLLL cTERTHENET SeuTL_Hls.

8. An analysis of the monthly wages gives the
following results:

Firm A Firm B

Number of workers 500 600
Average monthly wages Rs.186 Rs.175
Variance of the distribution of wages 81 100

(a) Which firm has a larger wage bill?

(b) In which (A or B) is there greater variability
in individual wages?
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LISTHS T FnelseT Gemeuminmm gamliul (HeTarg)

A B
Ceuenewim’_ger 500 600
wrsrhS T Frmafl gned t5.186 e5.175
TN (Faedl) 81 100

(<) ebg sbuaiuile) 9igls gmaed Dar(aslin(BEHng)?
(=) eby sbLCUa] fls caflu Ceumuimiqener

Qe mewT(HeTeTg)?
9. Calculate the coefficient of correlation between x
and y from the following data:
X 1 3 5 8 9 10
y 3 4 8 10 12 11
eUUne| O&peilaner serLMls.
X 1 3 5 8 9 10
y 3 4 8 10 12 11
10. Construct index number of prices from the
following data using
(a) Laspeyre’s
(b) Fisher’s methods.
Commodity 2009 2019
Price  Quantity Price  Quantity
(in Rs.) (in Rs.)
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36
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O L QUMETEN U 2 (HeUTEHEHS :
(=) Laspeyre’s

(=) Fisher’s @panpenw Gemuipmis.
QuimmeT 2009 2019

ey S@GSHET  allened e GSeT

A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36

Calculate the seasonal indices from the following

data using the average method :

Year 1st 2nd 3rd 4th
Quarter Quarter Quarter Quarter
1974 72 68 80 70
1975 76 70 82 74
1976 74 66 84 80
1977 76 74 84 78
1978 78 74 86 82

6 UG-228



12.

L(HeuGsTeSSDaTear oL L euameaenw Fyna alldlsssen
ST &

QU(RLLD 1 us 2 uEg 3 uEs 4ud

1974 72 68 80 70
1975 76 70 82 74
1976 74 66 84 80
1977 76 74 84 78
1978 78 74 86 82

Obtain the two regression lines from the following
data :

N =170; Yx =80; Xy =60; Xx* =1680, > y* = 320;
2 xy=480.
emeu(meuareu D@ el (Hmey <2pu16] HerLMHs.

N =170; Yx =80; Yy =60; >x* =1680, > y* = 320;
2 xy=480..
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UG-227 BCS-22

B.A./B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Second Year
Corporate Secretaryship
COMMERCIAL LAW AND INDUSTRIAL LAW

Time : 3 hours Maximum marks: 75

PART A — (3 x 5 = 15 marks)
Answer any THREE questions.
1. Define the term offer.
(PEDETE GTEITM LISSHENS GUEDTUIMIGS.

2. Is breach of condition treated as breach of
warranty?
sk eupby Wplu@eems bLUDE WBoliu@heusts
Q& TETETOTLOM?

3. What is contract of sale?

SMHlHLIEHET eLILIBSLD GTETDITED GTEITEN?



What is meant by industrial location?

Qamdlé QL ieme] eTarLigen GlLIT(HET eTeme?

Write short note on Labour relation.
Qamflemert 2_ma| LD Sm GOILIL eueys.

PART B — (4 x 15 = 60 marks)

Answer any FOUR questions.
‘An agreement by a minor or with a minor is void’ —
Discuss.
“@emeumLer  @wg  @ereurmed CpOsTeTerliLL &
Falgll 2 |_aLllg&ens @eamblanauig)” — efleurdlss.
State the rights and duties of parties involved in
the contract of agency.
WPs @LILBSSS O rhHLUL(HeTer pursatan 2 Manoser
LHOID sLansemer elleuil.
Explain in detail the documents of title to goods.
QumpEREHE 2 Mend  FIDDHSIOTET U EUEHTBISHE 6T
cflfleura cllemd@s.
Give the important rules relating to factories act
1948.
Qamplhereney g L_1b 1948-6m (p&dlw ellglsamars 5ms.
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10.

11.

12.

Bring out the salient features of workmen’s
compensation act 1823.

Qampleomart  BLLmH sl 1823-ar  (psdlw
DIDEBIGEETS &(HS.

What are the agreements opposed to public policy?
Qurgls  QaraTensds@ — aHImer 2 L aTliq&sansser
wimeney ?

Mention the essential elements of sales.

&18@ el pLaenuiler g L gmmseamer @Dl (Hs.
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UG-046 CCE

B.Com./B.B.A. DEGREE EXAMINATION —
DECEMBER, 2019.

ENVIRONMENTAL STUDIES

Time : 3 hours Maximum marks : 75
PART A — (8 x 5 =15 marks)
Answer any THREE questions.
All questions carry equal marks.

1. Write about the importance of environmental
studies.

FHMIFGPeSlwedlan (p&slwsgleugeamsll LHMl eT(ps)s.
2. Discuss the over-exploitation of natural resources.

@Qunens eleTmiGMmeT SHELTE SraT(Heuamsls LHD
efleums).

3. Write about the eco system.

FDMIFSLPD LD 6T(PFIS.



Give an account on conservation of biodiversity.
LOQIUAT umgaTUL LD 6T(pSIs.
Write about the land resources.
Hle eueTmIGaeT Lim Ml 6T(LpS)s.
PART B — (4 X 15 = 60 marks)
Answer any FOUR questions.

All questions carry equal marks.

Describe the food resources.

2_amT6 GUGTRIGEET LIH M 6T(LSIs.

Describe the structure and function of ecosystem.
FHMIFSPSlan sLLawlil womb Ceuduriam ubm

eleufl.

Explain the energy flow in the ecosystem.

FHMIFE P60 D6 LU L SangL1 Limml eSlemd@s.

Give brief account on India as a mega diversity
nation.

@pdwuremeals Qurmsseiemruier e WSLELMw
L&T(p&S Setend ClasmenT BT erend @GO Hs.
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10.

11.

12.

Discuss the types and effects of air pollution.
STHOI OTHUTL 1q 6T eUEMEEHET HMILD allenereydsener LiHD

elleurd).

Discuss any five legal provisions to protect the
environment.

SHMESGPOOL UTHSTULSDST JCHeLDd Qbg FLL
elldlaaners Lmil elleurd).
Discuss the role of information technology in

environment and human health.

FHMFSHPNSGSD  walls RCrmedusdn@n 2 drer
S&6eu6 Gsmpled mIL L Lk undl efleurd).
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